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W4 SIXTEENTH NOTES
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Add two flags to the stem of a quarter note (@ ) and it becomes a sixteenth note (@ ). Two
sixteenth notes equal one eighth no're’ﬁ ch = lh itherefore, four sixteenth notes equal one
quarter note: ﬁﬁﬁﬁi Whenever a quarter note is equal to one beat (as m% 2 ﬁ time),
/4 or.25
a sixteenth note is equal to one-fourth of a beat. v
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When two or more sixteenth notes are next to one another like this: ah ﬁ ﬁ ﬁfhey may be
written like this: ﬁ ﬁ or like this: ¢ ¢ & @
The beats under the sixteenth notes may be written like this:~
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Arrows show direction of foot beat. (Hold foot in place on dash)

STUDENT ASSIGNMENT Date

Grade

1. On the staff below write four sixteenth notes and one quarter note in the first measure.
2. Write two eighth notes and four sixteenth notes in the second measure.

3. Write four sixteenth notes and two eighth notes in the third measure.

4. Write eight sixteenth notes in the fourth measure.
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5. Write the beats under each note that you have placed on the staff.

MEMORIZE: Tap your foot "down" on the beat numbers and "up" on the an.
(Never down on e - an - da.)
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Lesson 38  (Review) 41

STUDENT ASSIGNMENT Date

Write the beats under each note and rest in Ex.1 through 4. o

Then count the time aloud while tapping your foot.
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Write the notes and rests represented by the beats below the line in Ex.5 through 8.
Then count the time aloud while tapping your foot.
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